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Choose the correct answer from the following: 1X20=20

1. When memory is divided into several fixed sized partition may contain

a. exactly one process b. at least one process
c. multiple process at once d. None of these

2. when the memory allocated to process is slightly larger than the process then
a. internal fragmentation occur b. external fragmentation occur
c. botha and b d. neither a nor b

Sn

A set of processes is deadlockif
a. each process is blocked and will remain so forever
b. each process is terminated
c. all processes are trying, to Kill each other
d. none of the mentioned

4. Which of the following is not the state of a process?
a. New b. Old
¢. Waiting d. Running

5. Suppose that a process is in “Blocked” state waiting for some [/O service. When the
service is completed, it goes to the

a. Running state b. Ready state
¢. Suspended state d. Terminated state

6. In priority scheduling algorithm
a. CPU is allocated to the process with highest priority
b. CPU is allocated to the process with lowest priority
c. Equal priority processes can not be scheduled
d. None of the mentioned

7. Which algorithm is defined in Time quantum?
a. shortest job scheduling algorithm b. priority scheduling algorithm
c. multilevel queue scheduling algorithm  d. round robin scheduling algorithm

8. The address generated by the CPU is referred to as

a. Physical address b. Logical address
¢. Neither physical nor logical d. None of the mentioned
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